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PART - 1/ 9T -1

i2)

[ 1

CHILD DEVELOPMENT AND PEDAGOGY / &l famere & foreamams=
e
Py - et ey fee Gt FAARTET

Directions : Answer the following questions by
selecting the most appropriate opiions.

Which one of the following statements

reflects  Assessment for learning

strategies 7

{1} Assessment is used to label
*superior” and ‘inferior’ students.

{2)  Assessmen! ig carmied out during
teaching-learning to  create
differentiated teaching  and
learning strategies.

(31  Asscssmeni is used 1o provide
evidence of achievement (o
parents, studenis etc.

{(4) Assessment is carried out at the
end of the learning process.

There are a few ‘first gemeration
school-goers® in a middle school class,
The teacher should :

{1) eall the parents and ask them to
enrol their children for tuition if
they wish their children to siudy at
all

(2) give a long lecture to the parenis
about how they are wasting their
money on these children.

(3) talk to the children to understand
them and make the classroom
environment conducive to their
learning.

i4) tell the children sensitively that
they do not have the capability 1o
study further and they should now
help their parents at work.

Students from disadvantaged back-

grounds should :

(1) be given vocational education so
that they can pursue their parents’
occupation.

(2)  be placed in regular schools and

efforts should be made to adapt
the curriculum and facilitate
learning for all the students in the
context of their social and cultural
context.

(3)  not be given education at all.
(4) be made 1w study in differen

schools since  their cognitive
capabilities cannot match those of
other students.
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4, A child with Learning Disability ;

D needs o be put in oo separie
bstitution amd net in maingtream
sehools,

(2} has a right to study in the regular
school where there ore special
provisions for him.

(3 should be given  vocational
education, but  should not be
taught science and writing skill,

(4)  needs 1o be dealt with severely
and  punished  harshly for  his
mistakes.

5. Talented and creative children :

(17 need to be given special altention
to enable them te reach their full
potential.

(2} ane very difficult to deal with and
the tencher should be very strict
with them.

{(3) arc those children who are
excellent i each area  of
development — cognitive, social,
emotional and physical,

{4)  have a higher 10 and have better
socinl skills than their peers,

6. In a progressive set-up children with

special necds

{1}  are sepregated from other children
and are allowed to join them only
at the meal time.

(2)  are given only vocational training.

(3) are allowed to mingle with other
children on the condition that they
behave themselves.

(4) are taught along with other
children while making special
provisions for their needs.
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7.

Learner-centred teaching means that :

(1} learners are considered passive
recipients and teacher has the
‘right” knowledge.

(2)  leamers are slow in learning and

teacher stresses completion of

syllabus.

{3} leamers are given an opportusity
o construct  knowledpe  and
teacher is a guide in the learning
process.

{(4) learners know littie and teaching
involves transmission of facts to
them.

~ Learning can be facilitated by :

(1)  pushing the children harder by
using punishment.

(2} asking the child to do a lot of drill
and practice,

{3)  pressurizing the children to spend
long hours on studying.

{4) connecting
something  the
Enows,

new materials with
child already

Imn a constructivist classroom as
envisioned by Piaget and Vygotsky,
the teacher :

(1) gives long lectures on varous
fopics.

(2) provides an opporunity to the
students o engage in inguiry and
problem-solving.

{3) takes a backseat and observe the
students.

(4) dictates answers (o
guestions in the texthook.

all  the
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1.  According to the theory of cognitive
development given by Piaget, the
teacher has an insignificant role to
play in classrooms.

{1}  Yes, because the child is sure to
develop copgnitively as he poes
along the sequence of
development suggested by Piaget.

{2} Mo, bocause the teacher supporis
and  Tacilitaes  the  active
explorations of the children.

(3) No, because the teacher needs to
perform  administrative  dutics
also,

(4}  Yes, because the child constructs
his own view of the world,

11.  Which one of the following is most

12.

effective method for the suceess of

Continuous  and  Comprehensive

Evaluation ?

(1) conducting assessment at  the
beginning of and end of the
HESSI0N '

(2) using a variety of ways to assess
children over a penod of time

{3} piving written tests to children
penodically

(4) having only multiple choice
questions in tesis

It is important to appreciate

children’®s work rather than criticize
it. This statement is :

(1) correct becaus¢ no parenl can
complain to the teacher that she
seolded her child,

(2) incorrect since appreciation spoils
children,

(3) incorrect since children can
improve their work only when
adults criticize it.

(4) correct since it helps to foster

creativity in children.
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13.

14.

15.

16.

_ As a middle school science teacher,

which one of the following will be

Your most preferred method ?
(1) dictating answers (o the questions
in the 1extbook

(2) asking *bright' children to write
answers 1o the questions in the
textbook and dictate them to the

class

(3} conducting expenimenis and doing
projects

(4) making students read the chapter
aloud

Despite giving stars for every work, a
teacher finds that the students are not
motivated to learn. This could be

because :

(1} the teacher is not giving different
celoured stars.

(2) the teacher is not giving
appropriate stars.

() the students are incapable of
learming,

(4) rewards alone cannot ensure
interest and long-term leaming.

What roles does sociocultural context

play in learning 7

(1) an insignificant role

{2)  itis not related to leaming.

{3) it plays a very important role in
. leaming.

(4) none at all

What the child learns, how well she

learns it and how she is able to apply

that learning to various situations

depends omn :

(1) opporunities the teacher provides
for memorization and recall.

{2) her parents’ intelligence and
money they spend on her.

(3)  how well the school gives rewards
and punishments,

{4) opportunities she has to observe
and interact with objects and
people.
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17,

18.

19.

Proximodistal principle of motor
development means that :

(I} Development tends to proceed
from toe to head,

(2) B is a sequence of hiological
changes in childhood.
Development proceeds from the
center of the organism to its
periphery.

(4)  Development tends 1w proceed
from head to toe.

(3}

Which one of the following statements
is correct ?

(1} Childhood is a happy period for
all children,

Children are like adults in their
thinking.

(2)

{3} Children are ‘evil' creatures who

have to be tamed by the adults
around.

Childhood is experienced
differently by children in different
social and cultural contexts.

(4)

Individual  differences ecan  be
attributed to the complex Interplay
between the hereditary factors and
the :

(1) genes.
{2} genetic make-up.
(3) Inborn characteristics.

(4) environment.

Which one of these does not play a

role in socialization of children ?
(1) School

(2) Family )

(3)  Physical Infrastructure

(4) Media
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21, According to Piaget, which one of the T 21, frr ¥ FT wok . Pl
following pairs is essential for frmre & g B WT ol
cognitive development of the child ? () STEIERe] T Fs
(1} Assimilation and ZFT @) e T E 0 b LR
(2)  Accommodation and Seaffolding 3 s (i) TP S
(3)  1Q and Creativity @ s FAR

(4)  Assimilation and Accommodation

22. A child focuses om one aspect of a 2. ™
situation and ignores the others. This Fhrmr W & e T =1 T e
is due to : mtiﬁrmﬂt‘
{1} egocentric behaviour (n SyFehiG BEET
(2) inability to imitate (2) FE
{3) focus on symbolic thought (3 B sl L]
(4} concentration (4) e ool
23.  In pre-conventional morality : 71 l:jﬂ!m‘i'"ﬁ LE
{1} many rules and wvalues are | (1) @ﬁﬁﬁmqﬂ’iﬂﬂﬂﬁmm
internalized by the individual. vy 41 et B |
(2)  generic and broad based principles (2) =W & e T IRl i
of justice are evalved to view laws Rgrr B! W g SR &
as social contracts. wﬁtﬂﬂrﬂ?ﬁiﬂ'iﬂﬂmﬁ?{ﬂﬂ’?n
(3) the idea of rules and values is not (3 mﬁw@ﬁ[ﬂﬁﬁﬂmﬁﬁ
developed at all. g E |
(4) rules are external to the self (4) et & fe P T T W e
¥
24, believed that  cognitive T wr i e S e
development occurs in a sociocultural ;ﬂ P ok o B —
context and evolves out of the child’s e
social interactions. wmFsra st § et g |
(1) Freud (1) WEs
(2) Vygotsky (2) @
(4 Enkion (3) e
25.  According to which theorist, language 15, few RgiEdl % SRR GREEE
plays & crucial role in the development dirger & fasmwr & wra wevgel it
of cognitive ability Frvrdi e '
(1) Piaget (1y framt
(2) Bandura (2) g0
(3) Pavlov (3) TEEE
(4) Vygotsky (4) amTE
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29,

3.

A teacher believes that each child is
unigque and a special individual, and
therefore actively involves them in
their own education and development.
The teacher is adopting :

(17 Child - centric education

(2} Method — centric education

(3)  Teacher - centric education

(4} School —centric education

Which one of the following statements

best describes intelligence ?

(1} Inmtelligence is an undimensional
concept.

(2)  Intelligence is influenced only by
heredity. :

(3) Intelligence is influenced by
environment only.

(4) Intelligence s a
dimensional eoncepl.

rnulti-

Language thought.

{17 istotally independent of
2y is synonymous with

(3} influences

(4}  can be equated with

When parents buy dolls for their
daughters and football for their sons,
their decision reflects :

(1} Gender constancy

(2) Gender insensitivity

(3) Gender empowerment

(4) Gender stereotyping

In a classroom,

needs to be :

(13 standardized because only then
can asscssment be objective and
valid.

(2) individualized since there are
individual differcnces among
‘learners.

(3) individualilzed because lcamers
are a homogeneous group.

(4) standardired since leamning needs
to be uniform for all the leamers.

teaching-learning
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IMPORTANT : Candidates have to do guestions
il to 90 EITHER from Part - Il {Mathematics
and Science) OR from Part - HI (Social Studies /

Cretovs fary 757/

qEger Wﬂﬁﬂ e

Social Science).
PART - 11/ ®FT- 1
MATHEMATICS AND SCIENCE jifore & faaT
Palsi - i aad Fuge fawe TR
Directions : Answer the following questions b = PE—
by selecting the correct [ most Pl
appropriate options.
= ﬂﬁ‘ﬂ.‘t"""l— =5,aﬂ!’x#“tﬂlxz+
31, |r3x+3—' = 6, and x # 0, then the 3l o 3x
. 1 gram
value of 2= + is: 8 1
p ix
81x 7
4 T {” j— {2.] e
(1) 3-— ) 33— 9
9 9 ; W
3 2 (3 4= ) o
3) 4— 4 2=
(3) 9 (4) 5 9
32, One of the factors of % gt et I =2RNNN
& i':
2x+ 8y)* - 5 (2 + 5y) - 14 el
» ( ¥) (2x + 5y) 0 masy-1 @ 2%+ 5y—2
(1) 2x+5y-7 (2) 2wc+5y-2 () x-Sy+2 (@) x-Sy+7
(3) 2x-Sy+2 (4 -Sy+7 P
. etz 11 fernfit 5w = my
33. The runs scored in a cricket match by 3% Eﬁlﬂﬂﬂff:
11 players arc as follows : ' ct
16, 9, 15, 18, 50, 100, 102, 14, 20, 80, 5 16, 9, 15, 18, 50, 100, 102, 14, 20, 80, 5
o ST fF ok, v ARz T At %

Let x, y and z be the range, mean and

median respectively of this data.
If x =y + 2 + p, then the value of p is :

(1y 42 (2) 43
(3) 47 (4) 40

Foy ghET, A S e § ) ool
x=y+z+p!‘,ﬂ1’pmﬂﬁ!‘:
(1) 42 @ 43
3 47 (4) 40

SPACE FOR ROUGH WORK / T% %1 & fov we
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35.

}6.

A bhag contains 5 red balls, B while
balls and 4 green balls. If one ball is
drawn at  random, then the
probability that it is not green, is :

&
1 =
W 17
4
(2 —
17
13
(3 —
17
3
4 -l
E:I 17

If abe, bea and cab are three diglt
numbers, and

alic+hean +ecab=3xa+h+ ik
then the value of K will be ¢

(1) 33
(2) 37
3y 111

4y 11

If F, ¥ and E represent the number of
faces, number of vertices and number
of edges respectively of a pyramid
with square base, then the value of

IF+2V+E
is:
(1 33
(2y 38
(3) 40
(4) 28

(1)

34.

A5,

6.

b

e O A 5 0 T, 8§ Wk T sl 4 e
W F | o ey v T Rt e,

8
(1} o
(2} =
17
{3 E
17
(4) 2,
17

TfE abe, bea HIT cab Hi7 ST H1 woani
F =t

abe+bea+cab=3x{a+h+c)xkt,
T K T HI B0

(1) 33
2y 37
(3 111
41 11

afg F, V % E wwn: st at smaw as
e & wewt, ST s femd =t

HEATHT I UG Hid 8, Al
IF+2V+E

FHAE

(1 1

{2y 38

3 40

4 28

SPACE FOR ROUGH WORK / 7% &1 % fa =
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38.

3o.

Priva sold two watches for T 1232
each, gaining 12% on one and losing
12% on the other. The pgaindoss
percent in the whole transaction is :

(1} loss, lﬂ Y
25

71
(2} profit, | — %
154

(3} loss, | (2. Y
4

11
{4y  profit, | — %
25

In which of the following cases, the
construction of a quadrilateral ABCD
is not possible 7

(1) AB = 55 ¢m, BC = 4 Cr,
LA = 60° /B = 105° and
LC = 105°,

(2) AB =BC =3 cm, AD = 5 em,
£A =907 and <B = 105"

(3) AB=5cm, BC=35cm, CD= 5 cm,
AD=3 cmand AC=8.5ecm.

(4) AB = 45 ecm, BC = 4 L,

CD =65 em, AD = 3 ¢m and
B = 6.5 cm.,

Let x be the angle (in degrees) which
is 32° less than its supplement and ¥
be the angle (in degrees) which is 24°
more than its complement. The sum of
xandylis:

(1 126
(2) 131
(3) 137
4) 121

(12)

P11
waw W T 1232 §
# ot ufgdt &
3. Elwuﬂﬂﬂ%mmﬂ-ﬁﬂ
av 12% Wi g | T W S T e
wr uEA
11
— %
(1 mﬁ,1ﬁ
71
SLEAY
) w iy
71
WL
(3) Fﬁ"ls-sf
11
— %
() w1
g Py Ruf @ few farfr F wpim
ABCD # 7o v g1 €7
1Y AB = 55 em, BC = 4 cm,
“ ZA = 60° £B = 105° &R
ZC = 105"

{2y AB = BC = 3 cm, AD = 5 ¢m,
ZA=90° 37 LB = 103%,

(3) AB=5cm BC=15cm, CD=5¢cm,
AD=3cm #TAC = 8.5 cm.

(49 AB = 45 cm, BC = 4 com,
CD = 65 cm, AD = 3 cm 3y
BD = 6.5 cm. '

39. W Sfag 6« e v wior (R o
A o Hgrw | 320w ¥ ATy vt

&S

wiw fht & & ot o |/ 24°
e R ilﬂT}'lEl‘Ilh‘ﬂ':W &

(1 126
2y 131
(3) 137
(4) 121

SPACE FOR ROUGH WORK / T% %1 % f17 wrre
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p-I1 (13) x
40.  In a AABC, D is the mid point of BC 40. AABC H, BC =1 wmafig b ¥ afw
and £C = 40° A is joined to D and ZC =40° % | A B D F Toemn o ¥
AD = BD. The measure of ZBAC is : TMAD=BD ¥ | ZBACH oI -
! . '
(1) T (y 70°
(2). “wge 2)  90°
(3 100° b a
) e (37 100
4y 60°

41 On increasing each side of a square by 41, W e A 25% ®i gfg W
5% the inerease in area will be ; ot g S o g v
(1) 55% (1y 55%

(2) 5{;»:-:, (2) 50%
(3) 56.25% (3) 56.25%
4 25% (4) 25%

42. A 22 cm % 8 cm rectangular piece of 42, U 22 em X § em FEART B &
paper is folded and taped without 7w =i fen witEme= feg, 9ieeT 8 em
overlapping to make a cylinder of Fu = UE dFS o A ¥ | g
height 8 cm. The volume (in em?) of W B WP T A8 (em’ T
the cylinder so formed is : 1y 308
(1) 308 2
2) 616 (2}  6lb
(3 1232 el oy
4 176 i 17e

43. There are two pieces of wire each of 43, AW & A W T o7 viw = wEd
length 30 cm. Using one piece a square 3 em § | X % UH THET H U T T
is formed and from the other piece a AT 7HE |/ At 5 em, 12 cm TEN
triangle of sides 5 ¢m, 12 ¢m and 13 tmmﬁﬁﬂﬁmmi’l&ﬂﬂ
13 em is formed. The ratio of the area & S w1 A o e A T
of the triangle to that of the square is : '
(1) 8:15 i
(2) 15:8 = 1=
(3) 15:2 (3) 15:2
(4) 2:15 (4y 2:15

SPACE FOR ROUGH WORK ;Wﬁlﬁﬂi‘ﬁi‘l{m
by CamScanner
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44. A teacher in Class VII asks her 4. E“ﬁ;::ﬂfﬁrsﬁ ﬂ%ﬁ*ﬁq

students to draw circles of different ﬂ'l | T fiFT 3:;# e ﬁi‘;'ﬂm L
radii. She then asks them to calculate offed B ';F |
the ratio of circumference to Wﬁl I & gy TaRdt i T % o
diameter. The students find that this o A YA T it
ratio is almost the same in case of each i ot ¢

circle. The teacher is using : syt ST

(1)  Inductive approach {” T azf

{2) Project method (2) TR

; (3
{3} Analytical approach e I
{4) Deductive approach (4)

45. CBSE has recommended Mathematics e farat, (CBSE) = it Tty
Laboratory as part of Mathematics HA i % =0 A i T
Curriculam at upper primary and Tiferel 9 vt
secondary stage. The main purpose of sy ST T T
Mathematics Laboratory is : (1) ferarfigl Y TORT H S 31 gy
(1) to enable students to score more w0 o A e |
marks in Mathematics. @) e A A |

(2) 1o reduce Examination stress. T T o e T TEIH S5 s

, (3)

{3} to break monotony of classraom
ki AT | "

(4)  to provide opportunities for hands (4) RrERT & QAR ! "
on leaming. FUHE T |

46.  Which one of the following statements 6. Wa’hﬁﬁ ittt & 9 S
is true about ‘axioms® ? Faa a7
(1} Axioms are the same as propositions. (1) frmie o o v S d

{2}  Axioms can be proved.
(3)  Axioms are the same as theorems.

(2) wfrmEte »t fog o s wwar |

(4) Axioms are  Mathematical (3) awERT T TESEaE
statements  which cannot be (4)  sivEe T wem § R foz
g Wi feram w1 wewe &

SPACE FOR ROUGH WORK / T T4 % o s,
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47.

48,

49,

50.

Which one of the follow ing is the most

cisential  aspect of  mathematics

Planning in upper primary classes 7

(1) Presemt Mathematical concepts in
a hierarchial manner.

(2)  Write activities in a register for
reference.

(3} Provide learning opportunities to
allow - leamers 10 construct
comcepls.

(4} Follow the sequence of textbook.

Consider this theorem —

“Ir n? is odd, then n is odd™,
This can be proved by :

(1) Contrapositive proof
(2}  Direct proof

(3)  Proofby contradiction
(4)  Method of disproof

Which one of the following statements
is pot true about a Mathematical
theorem ?

{1} A theorem can be in the form of
implication,

A theorem can be proved.

A theorem becomes axiom if
proved.

A theorem can be biconditional.,

(2)
{3)

(4)

Which  one of the following

Mathematical processes is an important
aspect of algebra in Class VI ?

(1) Generalisation
(2)  Memorisation
(3) Estimation

(4)  Visualisation

(15)

& mmamnin

47.

48.

49,

X

T WA W o niee gt @
fr Fr=fefam 4 | SFmw wme
IS Y
(1) i deerre w i g o
T T |
et Wt ue e o dedt &
Form R o
feraferet & fau Formmds gararrt @1
IR W fEd e dereerat
T T EE |
(4)  REENE & S S |

vgfy n? e &, ot n Frem et 1o
g e arasm
(1) wiff amfa §
(2)  wras I H
(3) T I
(@) w (fsupw i @
e T e d A o Rt F §@
AWM FRA TR TR &7
(1) Wiy s & w0 3 € wwa i
(2) wig s Fae e wwe

(3) @i vy fag 8t = o = afopda
T

vAg 9 5 v E o s e § )

(2)

(3)

(4)

FEN V1 F Fomftr o niftndta wiwar =
I g AEE § 2

(1) =t e

(2)

(3) e wE

(4)  HIER HA A

SPACE FOR ROUGH WORK / T %14 & fore srg
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51. A teacher of Class VI finds that 51. W Rrafan g & @, T Fremi

despite her regular teaching, a student £ Ei mﬂwﬁ A

makes errors. The teacher should : ﬁﬁm *W-ﬁﬁﬁmﬁﬂﬁ‘l{ I

(1) give a lot of questions for (y T
practice. 2 Pt w R ® e e

(2)  refer the student to the counsellor, { T | ,

(3} study the errors and their possible a&ﬁ T ek HYE HHOT H e
causes and design her teaching (3) a T T T
strategy. iy S AR T =T |

(4)  repeat the method two-three !

i wy  fate @A afte S0 e |

nforeia  FEAATEEA &

52.  Which one of the following assessment S Wﬂf :‘ﬁ' fpfirfaa ¥ @ s
strategies is best suwited to assess the A ' 3 ﬂﬁmt?’

Mathematical creativity in learners ? Wﬂ’l‘ﬂ*‘-ﬂ ; :.1- ()

(1) Investigatory project (1) SFEEEER

(2)  Annual examinations (2) s e

(3)  Field trips (3) e W

(4)  Olympiad examination (4) TS T

53.  Which one of the following activities s 53, wa v aitwgt & FRERTHOT & T,
most appropriate in teaching-learning sfrm & fog Prafafeas d # wra
of data interpretation in Class VIl ? g T8 mﬁslﬂ?ﬁi i
(1) providing survey reports from (1) e & wawn e 3rem

T . el = |
(2) pr::-_wdmg u'{trkahc:[ with a ) ; , = W R
variety of questions
(3) conducting group discussions in ‘
the class (3) W H wEl § foraw-fawet dufm
(4) taking questions from different fewan g |
text books (4) T et & we forw o

SPACE FOR ROUGH WORK /T %™ % foe e
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55,

Ifx = _?zaml y=—, then a

ratisnal number between {x+ ¥) Vand

' +yYyis:
—136
ot
102
@ =8
204
161
3y =—
204
9
@ 22
204

IT0.109 + 0.2 + 0111 —x + (0.19 2 0.1)
+ (011 + 0.2) = 8 x (10)", then the

value of x is :

(1) 0.189
{2) 0.989
(3) 0.998
4) 0.198

{17)

54,

&S inneannoin

x
iy x = '—Tzaﬂ'f}'=;fta’[u+ﬂl

ey '+ y ) U T e

m =
o ==
(3] -jﬂi;
@ =

FE0.109 + 0.2 4 0.111 = x + (0.19 x 0.1)

+ (011 +02)=8x (10" & A x TR

L F
(1) 0.189
(2) 0.989
{3) 0998

(4) 0.198

SPACE FOR ROUGH WORK / T% &TH % (T wiTe.
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X {18) 3 4
- -5 _31
36 If3x -2 (r+3)=2(2v¢-5) -8, then s, wrax-2(e+IHTIOX ? "
the value of
Sx—2 mmi:
[ Ix=5
dv—5§
(n 2
(1) 2
4
2y 2-—
P 7
{2y 2-
7
3
(3 2=
3 7
(3} 2=
7
@ =
T 17
4) —
17

57, If /768 x 3267 = dd x ¥, then the 57. 4768 x 3267 =44 xy & Ay w

value of y ; i
(1) 44 (1) 44
(&) 72 2y 72
{3) 88 (3) 88
(4) 36 4y 36

SPACE FOR ROUGH WORK / 1% %4 % g v
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50,

il

TV 2088 M Y1704 = 24 x 2, then
the vl of 2 ds

() T
(2} T
R 4 |
i 3

Thie value ol

325
()
a8
Ll
& =
Uiy
5
(3)
45
325
4
4 Oy

Gauray has T (7 % 10) in his account
and his brother has T (27 % 10%) in his
account, IT the totul amount in their
accounts i5 written in standard form
as m % 10", then the value of m 4+ n is

1y 7
(Z) 1LIS
(3) 127
4y o

()
5H.

&S

X

afr Y- 2088 % Y1764 =24 22 72
wmaE Y

(y: =i
2) -16
(3 -21
(4 -3

o 2
48
o
(3) -?:1-_]35-
325
(4) ]

i & Ee | T (72 x 109 ¥ v sud
wiwFERTr Q<100 1 ofr Sl

T i T T W A Y m ok 100 F
Fararat m+ nwram

( 7

(2) 1118

(3 127

9

SPACE FOR ROUGH WORK / 7% & & fom wmme
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61. Consider the following columns A and 61, g ftﬂ:ﬁ 11'.1'& AT At &
B in which some names of scientists wifAg ¥ l,?-:rﬁnt B’:m‘h'ﬁ
are given in Column A and the e T
discoveries made by them are given in i 4 e B
Columin B. e e Ty
Column A Column B n, STEEAST A I|. fpoae
a. Alexander i. Bacillus u_:ga:é’iﬂ?lT -
Fleming anthracis i Af T i eI
b. Edward Jenner ii. Fermemation i ﬁiiﬂﬂﬁ i, AT
;. Lonis Pasteur iti. Lactobacillus d. W, e 1 2
. Robert Koch  iv. Penicillin B W ARl H W
v. Small pox ﬁﬁhﬂﬁﬁﬂﬁm
vaccine e d
The correct match of the items of a b €
Column A with that of Column B is : . i il m
a b C d () tv i i
M w4 B Lo T
@ v v d @ % o WO
(3 v iv i (4) v W M
(4) iv i i i
et it wT A T
62. Name the two endocrine glands which .. o ﬁ;; ;fﬂm gt % e |
secrete their hormones when they ﬁqﬁmt mﬂ AT BT
receive orders from the pituitary mﬁi’?
through its hormones. '
(1)  Adrenal and pancreas (1) e 3R AR
(2) Thyroid and testis (2) G ST g
(3)  Adrenal and thyroid (3) i S FEEs
{4)  Pancreas and ovary (4) FEE i HUEEE
63. Column A lists the cell parts and 63. maﬁﬂﬁm*“ﬁﬁ@tm
Column B lists the functions of the cell wv B i % el tmﬂ@t
part. YA "B
Column A Column B i, = AL W @ ¥ e
i. Cell wall A. Controis what Tl PO e |
happens,
i cell B. Supporis the ii. =g B. fm@?ﬁﬁm
i?{"ﬁﬁl |
membrane cell. .
iii. Cytoplasm C. Controls what iii. wwr C. Wi F e sl
passes in and = A A T € I
out of the cell, | i, s S
iv. Nucleus D. Cell reactions iv. ®EF D, W i
happen in it. wiertsnan gt ¥ |
Which one of the following options is e 4 @ S w s dw 10
correct ? . y :
T . B W
|
M) B A D C M B A D
@2 B C D A 2) B C D A
) A C D B B A € D B
@A B C D @A B c p
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64. Which one of the following s ®
combination of components of an
animal cell ¥

i1y Cell membrane, Cytoplasm.
Mugleus, Vacuole,

(2)  Cell membrane, Cytoplasm,
Mucleus, Plastd.

Ay Cell wall, Cytoplasm, Mucleus,
Vacuole.

4y Cell  membrane, Chloroplast,

Mueleus, Vacuale.

65  Which one of the following is a group

of Tungi T

(1)  Amoeba, Spirogyra, Penicillium

(2} Aspergilles, Penicillium, Bread
maould

{(3)  Aspergillus, Lactobacillus,
Paramecium,

4]  Aspergillus, Bread mould,
Paramecium.

66, Study the following statements about

breathing.

A. It is a process which provides
oxygen to the body.

B. In this process water is produced
in the cell,

C.  This process helps the body to get
rid of carbon dicxide.

0, In this process food breaks down
to release energy.

The combination of stalements that gives

the correct functions of breathing 15

(1) AandConly (2) C and D only

i3) A BandD (4) Aand B only

67. Which one of the following qualities is

least developed among students by
activity based science education ?

(1) Open mindedness
{2)  Questioning

{(3) Memorization

(4)  Curiosity

Scanned by CamScanner
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a5,

7.

x
§ A wAmE A= B ®

HrElw AaTAA L ! _
fafarram

() Wi T, ST T, ST
s

(3) st fofe, = 7= =05,
Feferrat

(4 ﬂf{lﬂfﬂmﬁiﬁ"mm
frfarram

frfafam i@ SR T FIE H 8 7

(1) zn, w, A

() wE, A, T

(1) ﬂ:ﬁ#{ﬁ'ﬁ&fﬂﬁﬂh—fm

(4) S (rEmTE), $5E.
ST

i o & mt F A3 Ry g T -

Fema HIAT -

A mqﬁﬂﬁrm;‘fﬁﬁ
S T WA

B. &6 W § FiEE 0w e
e |

C. =% whE THT S, ST TEE el
# g T A, weEe S f

D. 9 WiEm § e E W a0 g
FTAAE |

H\ # F T S W ave w1 e

] 5 T

(1) #FE@AFTC (2) Faa C & D

(1) ABawD (4 FEFAFTB

fretafas & @ s\ o nfafEm

st o= T & g 2= O w0

=x fawfam v iy

(1) T aEtas

(2) WS

(3) OE &

4) Fowm
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68,  Which one of the following statemenis
Is trire abont nature of seience ¥
(1) Sciemific  knowledpge  lns @
teniniive chamwrer,
(2}  Svientilic  knowledge  can  be
proved through experimentation.
(3)  Science is value-neutral,
(4} Scientific knowledge is an objective,

69, The following are some of the views
about assessment in selence. Choose
the most impractical iden from those

given below,
(1) One  cannot  undermine  the
Imiparance ol informal

observations thal  are constantly
collected by the teachers whenever
they are interacting with children,

(2} Assessment needs to be exible
and manner and modalities may
vary from situation to situation
and sometimes from one student
group o another,

(3} Teachers will have to be more
Mexible when dealing with the
assesament  of  children  with
special needs.

(4)  As science teachers, we must
realise that we have o test
everything that the siudent knows
using a variety of tools,

The following are some of the views
on giving open book questions for
mssessment ;

a. It helps to gauge the conceptual
understanding ol the student,

b. Giving open book questions is unfair
to bright students as it gives an
opportunity to all students to be
successful.

¢. Open book questions reduce the fear
of assessment,

d. Students find open book questions
very useful as there is no burden of
memorizing the answers.

Select the view/views that embrace the

spirit of open book questions.

(I} b,cd (2)

3) b (4)
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{Z1)

S [ ]
& !twﬁﬁ'ﬁﬁﬂfhﬁﬁﬂ
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70.

; e
Aypifeges A B T H
g v F T H T fa
f,ﬂ;q‘]iﬂ“ﬁﬂﬂ-l
i3 CENER Gak I
() ey ST E
ﬁmﬂm%ﬁﬁﬂmﬂ
(1) w3 mﬂﬁﬁ;ﬂﬁﬁ

w ok A A
aedi 4 Frar-fafE W U

(2)

) s Wi gU Tt W sifas

(4) Tamrr fowss & A BT HEES A

FYGHT FAA BT I TEH A
& it Teremeft wneem &
e % fre welt ges v e o &
ﬁw#ﬁwﬁfg‘:ﬁﬁﬁﬂwi:

a. I Feriosl =t s T
it F B s kg

b. TETH W 24 A et &
xﬂmtﬁ%wuﬁmﬁ:ﬁﬁ
TR B & HaET Yo ey |

W“ﬁﬁmﬂ%#ﬁmm#ﬁ
“} bfﬂ,d {2}
@) b N

ac.d
a, b, cd
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Ti. The following riipraph Is  i(aken Ti. ﬁﬁﬁﬂﬁﬂmm ¥l ﬁ MCERT
from  Class Lvﬂ' ﬁliim:::e NCERT forrr TrEgETE A # wer # fen
textbook=Discovery of sill : T i .
The exnct time of discovery of silk 15 T & W W ll'ﬂ'l'd T I ST
perhops  unkiown.,  According 1o an okd ¥ | vw wae i e , FWE,
Chinesse legend, the empress Si-lung-Chi was gt 4wl wn | =it #
wsked by the emperor Huang-ti (o find the T H T ﬁqﬁ il 3 i
cinse of the damaged leaves of mulberry trees #11 a O T i T T T %‘?IIFIH[T
rowing in their garden, The empress found 3 oy T WG T PO W iR Sl @ T
white wonms ealing up mulberry leaves. She & | S o O T R oA T
also noticed that they were spinning shiny T I G | HU R U wE
cocoons around them. Accidentally a cocoan erat mﬁfﬁq # fir e ol wgm A #
dropped into her cup of 1ea and a tangle of A ST & T e & T | dye EEm
delicate threwds separated from e cocoon. < T ST air fmst a6t o T w8
Silk inchistry began in China and was kepl a g 1 Tar T A o, i ST
closely gunrled seeret for hundreds of years. e -_-"ng Tt 3= 39§ wafew R
Later on, imders and travellers introduced sifk g wpl § SR AE S 6@, 3@ ot
1o ether countres. The route they iravelled = rorerere} S AT '
still enlled the “silk route’. 7 7 '-'TEIi’?T ﬂ Fﬂ’-‘ﬁ'ﬁ ﬂ mw £: |
What is the purpose of including the af.iﬁm = ) T I i

abowve in @ science iextbook 7
a, 1o develop a historical perspective

a.

b. to develop an appreciation of how b. ' -
incidents/ideas give rise 1o disovery iy faa 7 s W § g
of new things _

c. to develop a holistic understanding of

:
i

i fesmer e
science : i)

d. to make science textbooks light as the aq%:? A e W e ¥ 3% Ty
above is just for information and not # fer 6T | P :
for testing (1) wEsb®mc  (2) ﬂﬁﬁaﬂm

(1) Gllh'b&ﬂ (2) C"I'I-I}"ﬂ&d (3) abfic {4 a ¢

(3) ab&e () Onyade 7. Profufen e nRRl ¥ S

77.  The following is an extended activity . dEad W s Vil # e
given in Class VIII NCERT textbook - ﬁﬂﬂ“ Tli-'ﬂ %

Choose any five families o g , . it

m@mﬂm}& Enquire whether their energy A ﬂl‘fﬁ“ A ﬁfﬁ‘:ﬁ%ﬂ“
ommsinprian ol W Selt O i, 50 = )
Y G S ot b U & | 7 <h
4k }madEnq::f Em Wrrﬂfﬂia;?wiﬁ- 4 37 R )
o . ;
e e the advantage of doing an extended s v o e R
activity like the above ? The following are i ¥ 7 g Tt 3 Frefan ot ¢ -
the responses of a fow teachers, Identify the R T G I A
least appropriate response. 0 go (1) el et feefed] =t trr%
(1) This activity helps students (G &7 T ® U A A e
heyond lexibmkf and I w1 weTe e o
answers for themselves. By
(2) Such activities help  students (2) o = oA A
become confident and learn 10 H.lf‘liﬁ?mﬂlﬁi £
emgaire togmEss thentic (3) el e el 1 ol 98
(3) Such activity gives au o # P T 3V E
understanding to students of an 1ssuc. bl oliduleid B
(4) Such activites make a good (4) U

homework task.
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T Students of Class VI are festing

74,

15,

Th,

(4

starch in food, While testing, studenis
do mistakes in obseryations. The most
appropriate response of fhe teacher
will by ;

oot o e anther ehianee T shudents,
Bt pumsh stodents and wam them.

U tooaceept their mistakes enors.

1Y o appreciate their attempt
i1y Band D (2 Cand DD
3 Acand Iy 4 Aande

Which one of the following assessment
strategics is nol suitable for formative
assessment of learners in science

Y Jowmal wnting

i) Field inp

(3 Ferm=cid achicyvement test
i4)  Concept mapping

A Class V11 teacher wraps a thin
paper strip tightly around an iron rod
and tries to burn the paper with
candle while rotating the iron rod
continuously. Does it burn T Which
process skill'skills of students may be

developed through this activity
anad

(17 ohservation, hypothesis
classification,

(2)  only classification.

(3} observation, hypothesis  and
questioning,

i4)  only observation.

A student wants to discuss swine flu
showing a newspaper clipping. The
disease is not mentioned in his
texthook. As a science teacher you @
(17 would read the news clipping in
class but tell children that it is not
part of syllabus, hence is not
imporant.

would discuss swine flu and tell
children to bring more science
related articles 1o the class.

ask the child 1o meet you after the
class to discuss such anticles so
that the prescribed syllabus s
completed first and not o waste
everyhody s time.

would tell the child thar w is
beyvond the syllabus, and not o be

discussed in the class.

(2]

(3
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Th.

T,

B0,

Bl.

Planets revolve aroand the Sun in a
definite path. Arrange the following
planets in the increasing order of their
peviod of revolution.

(i)  Venus {1i)
(i) Uranus (iv)
(1) Givd i), i, (i)
2y (i, (v, (iii, (i)
(33 (i) Civd, (i, i
() (i), (i), (i), (iv)

Satumi
Earh

The melting point of Sulphur is
113 °C and its boiling point is 445 °C,
Which one of the following statements
is incorrect *

(1)  Selphur is solid s 90 *C.

{2)  Sulphur is Fquid at 400 °C.

(3)  Sulphur is liquid at 450 °C,

(4)  Sulphur is solid at 20 =C.

The occurrence of seasons on earth s
due to the fact that :

{1}  the eartl’s axis is tilled.

{2)  the rowtion rate of earth changes
during the year.

(3} the earth’s axis poinis in different
directions dunng the wear,

{4) the earth is closer o the sun
during summers,

I which one of the follewing, heat is
transferred by the process of
conduction T

(1)  Hoom heater
{2) from Sun to Earth

{3) from one end of a spoon to the
other end, when dipped in hot tea.

{4)  Seabreeze and Land breeze

Each cell in our hody contains IMNA.
We also have proteins and fats in our
body. What is common among DNA,
proteins and fats 7

(1)  All contain acids.
{2)  All arc inorganic.
(3}  All are salts.

(4} All contain bases.
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A rubber sucker, when pressed on a
surface sticks to it because of :

(1} atmospheric pressure.

(2)  the gloe on i,

(3}  surface tension.

(4)  gravitational force.

In the event of a thunderstorm:
(1) one should remain in a closed car.
(2) one should run on the roof of

one's house.
{3} one should use umbrella with a
(4)

metallic end.
ong should take shelter under a

tall tree.

All of the following are non-contact
forces except :

(1) Gravitational force

(2) Magnetic force

(3)  Frictional force

{4)  Electrostatic force

A book is placed in front of a plane
mirror. The observer is standing
behind the book. The image of this
book will be formed behind the
mirror and it :

(1) will be ercct and at the same
distance as the observer is from
the mirror.

will be erect and at the same
distance as the object is from the
TIrTor.

will be inverted and at the same
distance as the ohserver is from
the mirror.

will be inverted and at the same
distance as the object is. from the

mirror.

Consider the following statements
about adding organic manures to the
soil.

A.  They make the soil rigid so as 1o
hold the plants firmly.

B. They add inorganic matter to the
soil which is considered very rich
in plant nutrients.

C. They improve the texture of the
soil.

D.  They enhance the water holding
capacity of the soil.

The correct statements are ;

(1) B,CandD (2)

(3) CandDonly (4)

(2)
(3)

(4)

A and D only
A BandC
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When candle burns -

il. il4 size decrenses,

b there is melting of wax.

c, flame and soat can be seen,
d. mielted wax also solidies.

From the above observations, which one

of the following is correct 7

(1} ais a physical change and others
are chemical changes,

(2)  «is a chemical change and others
are physical changes.

(3)  a & b are physical changes and ¢
& d are chemical changes.

(4)  a, band c are physical changes.

ldl:mify the incorrect statement,

Acids are sour in taste whereas bases
are bitter in laste and soapy to touch,

b. Acids turn blue litmus red and bases
turm red [itmus bloe,

c. Solutions of substances that show
different colours in acidic, basic and
neuiral solutions are called indicators,

d. An acid and a base neutralise each

other 1o form a sall and a salt is

always neutral.
a,d
h, c

{(2) ¢
4y d

(1)
(3)

Radhika's gums were often bleeding
and her wounds were taking longer
time to heal. Her diet could be
deficient in which vitamin 7

{1} Vitamin B, (2) Witamin C

(3)  Witamin D (4)  Witamin A

“Sodium and Potassium are stored in

Kerosene. Give the reason.™

The following reasons are given by

VI class students :

A.  Both are highly reactive and react
with carbon  dioxide in  the
atmosphere.

B.  Both are highly toxic and gives
off toxic fumes.

C.  Both are highly reactive and react
with oxygen in atmosphere,

D.  Kerosene helps cut  off the
reaction of the metals with oxygen
in the air,

Select the most appropriate reasonis)

given by Class VIII students.

(1) only A (2)

(3) onlyB (4)

C&D
C&bB

"Scanned by CamScanner

{27}

B7.

B9,

X
e g e e & A
a. IEE SRR Ol B A
b, iy e g

ufart=
(3) a3l b e aitads & e i d
e ahEdT £ |

(4)  a, b3l ifew ofmdT &

TR A W G

3. e e O w2 g § wals awet W
T EAT BT T 3 w0 A
Far g k)

b, & A feesd = we e EEE
=T feem ot A d mee e

¢, TR we ¥ famam @ e, wREg
3t et faeme | Resr o gald £

T weet & |

d. FﬁﬂT T+ & AU aeE wgl AN
TEEET W IEEE e & T eem
oy g whar &

(1) ad 2) e

(3 be 4) d

T % o W, B e e

mm%#ﬁﬂrmﬁt:

TEd it o St g w

(1) fezfmB, 2) fefi=mc

i3y FEEfED (4) faafier A

gty e aidfivm = danw fidl &

A= et § e e & 10

& o osan ovin o frenfiat S

Frfafar s o ¥ -

A, FF g wilEeie & S S §
AT SRS # Wi et §

B, =F =57 e § i fadenm i
Bz & |

C. = g R € it ammEm
siverdta & wilear s §

w0 VI & Tl gar By o waw

SUgE W W gAY
(1) =&EdA 2y CcaRD
(3) AR (4) C3B



P-11

Candidartes have to do guestions 31 o 90
EITHER from Part - Il {Mathematics and
Science) OR from Part - 1T (Social Sindies 7

Social Science).

(28)
henfiat w31 @90 A T
crfbrer & foeaep @7 T L e
;mﬁwm#*ﬁf"

PART - 111/ {777 - II

SOCIAL STUDIES / SOCIAL SCIENCE

Directions : Answer the following questions by
selecring the correct/maost appropriate oplions.

As  mentioned in the Chola
inscriptions, ‘Brahmadeya® was gifted
land. To which one of the following
had it been gifted 7

{1}  Temples

(2) Brahmanas

(3} Jaina institutions

(4)  Schools

31.

In the Seventh Century A.D. big
landlords or warrior chiefs in
different regions were known as ;

{1y Maha-Samantas
{(2) Amatva

(3) Mahamatya

(4) Samantas

32.

Which one of the following dynasties
charged ‘Vetti’, the tax taken not in
cash, but in the form of forced labour 7
(1) The Cholas

(2) The Guptas

{(3) The Palas

{4) The Chalukyas

33,

Who among the following presided
over the *diwani adabat’ (civil court), a
new system of justice, established in
the year 1772 under the British
administration ?

(1)  The Governors of the Presidencies

{(2) The Governor-General
{3)  The jurists from different religious
communities.

(4) . European District Collectors
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P-II
35.

36.

37

Which one of the following statements
is correct about the Taiping Rebellion
(I850) in China ?

(1}  The rebellion was against the
traditional religion of Christianity
practised in China.

The movement aimed 1o forge a
kingdom where there was no
ownership of private property and
no difference between social
classes.

This massive popular uprising
took place in the northern parts of
China.

The British and the French armed
forces operating in China did not
help the emperor of Qing dynasty
to defeat the rebellion.

()

(3)

(4)

Which one of the following styles of
painting specifically depicted India as
a quaint land to be explored by
travelling British artists ?

{1}y Mural painting
{2) Picturesque landscape painting
{3}  Scroll painting

{4}  Portrait painting

*Hundru Falls’ is found in which one
of the following plateaus 7

(1) East African Plateau

(2} Western Plateau of Austrzlia

(3) Tibet Plateau

{4) Chhotanagpur Plateau of India

For every one degree of longitude the
local time changes by :

(1) 2 minutes

(2} 6 minfes

(3) | minute

{4) 4 minutes

Which ome of the following planets
takes least time to complete one
rotation on its axis 7

(1) Mercury

{(2) Earth

(3)  Jupiter

(4) Neptune
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41.

42.

Which one of the following Island groups
is situated on the same latitode 7

{1}  Bahamas and Srilanka

{2} Baker Island and Caroline Islands

{3) Clipperion and Cook
Islands

(4) Tonga
Islands

Islands

Islands and Mawritivs

When it is 12 noon at London the local
time at 15° east of London will be :

(1)  10.00 am
(2) 1100 am
{3)  01.00 pm
{(4) 9.00 am

In which one of the following oceans
does the deepest part of the earth lie 7

(1) The Arctic Ocean
(2) The Indian Ocean
(3}  The Pacific Ocean
{4)  The Atlantic Ocean

The Sahyadris are popularly known
s

(1) Eastern Ghats
(2) Western Ghats
(3) The Aravalis
{4) The Himalayas

Which one of the following statements

is correct 7

(1} The Oyashio ocean current is a
warm current while the Kurushio
current is & cold current.

{2) The Brazilian and California
CUrrents are warm curments.,

(3) The Labrador and Gulf Stream
baoth are cold currents.

(4) The Labrador Ocean current is a
cold current while the Guif Stream

is a warm currént,
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45. Which one of the following ocean 45, ¥ vH dy &yl ) waw of s
circulationy is created hy the strong e w9 % ww frefafee @ @

Snd the wal pull exerted by the Sun o mrgreTT T et = st g 7

€ #

(1) fJLL-;.:lﬂ:u:::n::‘: hmicihioon L wr

(2 T aczs, 1'.2]' -

{3)  Tsunami i3 '-TITFﬁ'

4]  Waves (4)

46. Find out the main feature of 46, Frefafes & ogen o=t =t ger fairen

"Westerlies' from the following : I WA : 2

(1}  They change their direction in i1y ¥ fEm= ﬁiﬁ W HYA e wew

different seasons. TRATE | 7

{2}  They hlow permanently in east to 2y @ o w7/ T—‘- 4 nfyey & #HW

west direction. T TEA E |

(3} They blow from sea 1o land. (1) U TGz | e H e E

(4)  They are permanent winds, (4) & T TEE |

47. Match the following two columns : 47. Frefafias 1wt o foe =it -
eeanic ;

circulations Fiatures mm Ll

i Wawve a F;:ri-::l-dic rise and fall i R 2 T W THOE 3T
of water,

i. Tide b. A strong seismic wave o a‘-ﬁtﬁ'ﬂ ;

jir. Tsunami c. Up and dow 1, w=E-gEl b ﬁ?‘{ﬁﬁmﬁ
el See it il AT c. TEWFRE A & IR
water frequently gl ﬂfﬁﬂﬂ [

iv. Current  d, Stream  of  water iv. SR d. TWEIEE W@ W
flowing constantly on fifees  Twmadt w®
the ocean surface ina Frfad =7 @ 953 5t
definite direction =F & TEE |

(1) ii-a dii-b i< ivd (1) ii-a iii-b i< iv-d

(2) id ii-a dii-b ive (2) id i diib v

(3) i iiid -2 iv-b (3} i< fi-dd ia ivb

(4) ii-b  i-a diic iv-d (4) ii-b i il ivd
48.  Which one of the following is a correct

arrangement of different layers of the 48, E:’ # m:;: WA T T AgHOSH

atmesphere starting from earth’s farfir= &1 Frafafas 4 @ w0

surface ? _— 9 BRI

i1} Troposphere, Stratos : ; ;

Mesosphere, Thermosphere, (1) : ' s 5’ : :
Exosphere. e,

(2)  Thermasphere, Troposphere, (2) TIvEH, Ehoaved,  "RLTEH
Exosphere, Mesosphere, m m- '
Stratosphere. : '

(1)  Troposphere, Mesosphere, (3) ®WOTEE, TEEUSH, §HOEUEH,
Stratosphere, Thermosphere, AIHvEe, WEHose
Exosphere. 1

(4) Thermosphere, Stratosphere, (4) TITATEE, WHOMATEE, WAHTEH,
Mesasphere, Troposphere, ENHUEH, FEHTEA
F-xcsphere.
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53.

Which one of the following statements
about the Sahara Desert Is correct 7

(1}  Itisatype of cold desen,

{2) It once used to be a lush green
plain.

(3) It is covered only with wvast
sireches of sands.

(4) It is located in the continent of
Europe.

‘Humus’ is found in which one of the
following layers of the soil profile 7

(1) Topsoil

{(2) Woeathered rock
(3) Parent rock

4}y Sub-soil

Which one of the following crops grows
best in well-drained loamy soil 7

(1) Coffes

(2} Cotlon
(3) Tea
(4)  Jute
Which one from the following

measures s nol considered as risk
reduction for industrial disasters ?

{1}y Storsge  capacity of  foxic
substances should be restrncted,

(2) Pollution dispersion methods in

the industries should he
strengthened.
{3) Densely populated residential

.areas should be in the vicinity of
industrial areas.
(4) Fire wamning and handling system
should be improved.

Viticulture is :
(1) breeding of fish in specially
constructed tanks and ponds.

(2)  cultivation of grapes.

(3) commercial rearing of Silkworms.

(4) growing of vegetables, flowers
and fruits for commercial use.

di.

51.

52,

53,

P-11
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57.

r-1l
&4,  Which one of the following statements
about Mahajanapadas is correct 7

{1} Nat all Mahzjanapadas had a

capital city.

(2}  All the Rajas of a Mahajanapada
mel together in assemblics called

sanghas to decide upon issues,
The anny in Mahajanapada was

maintained largely from the gifis
made by the locals.

(3)

(4)  Each Mahajanapada was ruled not

by one, but thousands of rulers
together, each known as Raja.

About 1800 vears ago, who among the
following composed the
Silappadikaram, a famous Tamil epic ¥

(1)
(2}
(3)
(4)

llango
Thiruvalluvar
Makkeerar

Saftanar

The Buddha attained enlightenment at :
{1} Bodh Gaya

(2) Magadha

(3) Sarnath

)

Varanasi

The ‘Ring wells’, excavated in the
earliest cities that were developed
about 2500 years ago, were used for :

(1) Worshipping

(2) Bathing

(3) Garbage dumping
(4) Irrigation
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58.

Whao

among  the

Qutbuddin Aibak
Alauddin Khalji
Firuz Shah Tughlug

Htutmish

Which one of the following statements
about Martin Luther is correct 7

(1)

(2}

(3

{4)

He encouraged the practice of
making donations to the church to
gain forgiveness for sins,

Many Catholic Christian sects
trace their origins to his teachings.

He felt that several practices in
Roman Protestant church went
against the teachings of the Bible,

He translated the BRible imo
German.

Consider the following two statements
A and B about the idea of “Three
Orders’ formulated in France in early

11" century and choose the correct
Answer :

A,

(n
(2)
(3)
(4)

The society was divided into three
classes namely, those who prayed,
those who fought and those who
tilled the land,

The division of society into three
orders was supported by the church
to consolidate its dominant role in
society.

Both A and B are true.
A is false and B is true, s
Both A and B are false,

A 15 true and B is false.

]

oldllileu vy uvdllioudlliiel

follewing  won
universal respect for constructing =
large reservoir called ‘Hawz-i-Sultani' 7

(1)
(2)
(3)
(4)

(34)

58,

59,

-1y

frefas f @ fee Romw e
Faogmr ® FE ST
FR W T 7

()
(2}
(3
(4)

wifes wEv

FrgEr G
ST Eer
FiFTtar ¥ e

EraaiL

# w14 % "av A Frertaiea

woAt d A WA T

{1

(2}

(3)

(4

3o g A § GEI W % feg
T2 w2 3 B W R vhatea
= |

aper dlfees tEE EWETE annn
I w TREE A BE Tow oo
By % AT ANR-SIE WS &
Pt & T ot § 1

T e %1 A # s
T |

i Sfimr w1 fEw Tl T
wrw A e e e e
FrfafEm &t s A olw B W Faw

A,

()
(2)
(3)
4

B WA @l W fafas T
T A - e w e e, gy
wE A W HY d@d e T
at oy

i e & faer w5
T FE ww o, fed de
M, W H S e e i
Wi g wr w9 |

A B S

AT & 5l B W & |
A # B $H e & |
AT A B rem g |



p-11
al.

62.

A stodemt  interviews  Tsunami

survivors for a project in Geography.
This can be considered as a project

based on which one of the following
sources 7

(1)  Secondary source

{2) Hearsay

(3} Both primary and secondary
sOurces

(4}  Primary source

Consider the following situation and
choose the most appropriate response :
A student comments in the class that
corruption is inevitable at the Panchayat
level. You would :

(1) demand that this comment be:
ignored and insiead the class
should focus on role of Panchayat
as metnioned in the textbook.

(2) agree with the student  and
conclude the class with a critique
of the Panchayat.

(3) ask questions in the class on how
an ideal Panchayat could be made,

(4) dismiss it by saying they are {0

young to know about this matier.

Choose the most suitable method for
developing concepis in Social Science
at the upper primary level.

memorising answers 10 questions

m given in the textbook

(z) listing dominant features

(3) leaming through a series of guided
questions

(4) learming through definitions
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64. Which one of the following conceptual
arcas is associated with skills in distance

and direction representation ?
(1)
{2)
(3)
4

Map reading

Driversity

Sustainable development
Money and Market

65. Choose from the following the most
appropriate statement that could

describe  the subject Social and

Political life.

(1) It emphasizes the use of
definitions.

(2)  Itencourages rote learning.

It is related o real life situations.
It emphasises one comect answer.

(3)
(4)

In order to introduce a Social Science
topic, which of the following methods
would be most appropriate 7

A, Case Studies
B. Fictional Narratives

6.

C.  Discussions
D.  Definitions
(1) ABandD
(2) B,CandD
(3) ACandD
(4) A BandC

Story felling is an effective way to
teach History as :

67.

(1) it can be an effective tool of
evaluation.

(Z) it creates curiosity & interest
among the students,

(3) it helps students to easily
MEMOrizE answers.

(4) it makes the textbook attractive.

-
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68. Which one of the following activities is

7l

T2

most suitable for teaching the changes
in land-use pattern at the Upper
Primary Level ?

(1)  Exhibition

(2)  Role play

(3} Quiz

(4)  Discussion

Consider the two exercises ‘A’ & *B’

and select which of the given choices

represent(s) an activity on historical
imagination.

A, You are a sailor who haz just come
back from Barygaza. Narrate wour
experience 1o your friend.

B. Trace on & map the Silk Route
adopted by the traders.

(1} Bis false

{2y  Aand B are true

(3) AandB are false

(4} A s mue

Which one of the following statements

on Contingous and Comprehensive

Evaluation (CCE) is inappropriate ?

(1) It makes teaching learner-centred.

(2) Tt helps in identifying the learning
problems of students.

{3) It burdens the children.

(4) It assists in self-assessment.

NCF 2005 is of the opinion that
textbooks should be seen as a medium :

{1} to inculcate the accepted values of

society.
(2) o transact the information
accepted by the dominant class.

(3) to pass the examination.
(4) of further inquiry

A Social Science teacher plans to
undertake a project on the lessonm,
“Understanding Diversity™.

Select the most suitable method to be

used the teacher o initiate =

discussion on this task.

(1) encourage students to think of
examples from their surroundings
and start a dialogue

(2) provide written instructions to the
students on points for discussion

(3} encourage students to see projects
of their seniors and discuss

(4) provide reading material to the
students
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73. At the upper primary stage, Social

Science includes content from which
of the following subjects 7

(1) History, Political Science,
Geography and Psychology.

{2) Geography, Political Science,
Anthropology and Psyvchology.

(3) History, Geography, Economics
and Political Science.

(4) History, Geography, Political

Science and Philosophy.

T4, Portfolios are an important tool of

75.

76,

assessment as ©

{1) it enables teachers to make
peneric  observation on the
students,

(2} it provides cumulative record of

the growth of studenis,

it is guick and easv to plan and
implement.

it provides conclusive information
about the students.

(3)
(4)

To teach the Partition of India
through an inguiry method, which one
-of the following methods would be
most suitable ?
(1} collecting eyewilness accounts
through interviews/discussions.
{2) holding a lecture on the freedom
struggle,
(3) drawing a timeline of India's
struggle for independence.
(4) narrating the role of political
leaders.
In Social Science, reflective teaching

is preferred to routine teaching

because ;

(I} it is unresponsive to changmg,
circumstances.

it implies flexibility, analysis and
social awareness.

(2)

it is a new idea hence, popular.
it is guided by tradition and hahit.

(3)
(4)

Scanned by CamScanner

(38)

73

74,

75.

76.

P-11
ﬁqﬂﬁhﬂﬁﬂfﬁﬁﬂﬁ#ﬁﬂﬂﬂﬁ
A e e 1
(1) Sfere, TR (R, T

weifern
@ T, A

LEIEEIE]
i ofera, e, TR ST T

(3)
ﬁfﬂ#
(@) shmr, i, T e ot

SiCte]

i e w1 T e

waA
T HH-E

et

o fmigdl & T w0 e
aﬁqﬁrﬂmﬁmﬁl
o deEr HiT HEEE w1 WO
rar At e i E
o Fmrtadr & an & Fvlers
AT WEH e

(2)
(3)

(4)

YHHTS IUFTH & AIEH § WRA % e
¥ finer ¥ Frefefias o & ==t R
e ong &

(1) wmreREsr ® e fgErw @t
TRt wAT |

FECEA] WEY 97 S T |

WA W e fed # gug hEn
CCicil

Tt Jeat # ot @ oAk
T |

(2)
(3)

(4)

T fara o il agrt ) snden
ferrefer faeror a5t smaftrsen 41 et

(1) % e ffefei %
aﬁ?ﬂ?ﬂ'ﬁmqﬁ%| o
@) ST, faveam 3

ﬁﬁﬁﬂﬁiﬁ]‘%’ |
@) e T Fra oy 9w e
(4)

%Imﬁmmmﬁ%ﬁﬁm



p-11 (39) X
71 ::’hkh utlg of the following statements 77,  wistiae e & ar o Prefafea &
s L L
‘(1) Rules and Regulations are made (1) Frm ol auPem AR ssEETT
directly by the peaple. R & AR |
(2) The decisions are authorised and (2) B @ weel g sfugm sin
supervised by the elected members. grERg e |
(3} Elmles are made by a group of (3) uH e @ & g E P
n ES.
4 Th s , e oA E
(4) hz:idﬁif;rgﬁrll:r_ﬂm taken by the @) ﬁﬁqaﬂﬂﬂﬁmmmmﬁ%l
78. Who from among the following -8, o e A e @t P frefefe
appoints the Secretary of Gram HHRA ST
SR ¢ (1) e sk
(1) Panchayat Samiti
- (2)  Zila Parishad (2)  Forem i
[ (3)  Panchayat President (3) IR S
i (4)  Govermment (4) HET
79. The two states involved in Cauvery 70, R AR AT A R A T E
water dispute are : (1) ¥y Wi & Ay
(1)  Andhra Pradesh and Tamil Nadu (7)  wAEm #w s i)
{2} Karnataka and Andhra Pradesh () s S Ay
(3)  Karnataka and Tamil Nadu ) i
(4) Karnataka and Kerala ) wHew
80. Which one of the following statentents §0. Tt Tem & T of % fewg o
:a]?:;ru;g Chief Minister of a state 15 Py farsoi g AR T &Y
(1) Slm“l;:ﬂ is appointed by the (1) o B ey g e ¥
President.
(2)  She/He appoints other ministers. () = e i s e s
(33 The Chief Minister and other i
ministers do not have separate : ;
offices. (3) EE W v g Al & s
(4) The Chief Minister is elected h:; ST FET AR e 8§
the MLAs (Members o ;
Legislative Assembly) belonging (4) O P P W R
to the party winning a majority of fererrest g fefe S |
seats,
_ : 81. T wEmHl wemst % few A
8L Which . b Frefirfea ot d 4w a4
ADOUW i -
correct 7 . (1) &N Hears S W @ S
(1) These Cooperatives  are not Ferredt ot wenr it mr Y} Tt &
provided any kind of support by (2) TEEH Sean sl # g =
the government. A W § o o T
(2) These Cooperatives rﬁdﬂﬂ: the role il 2 ﬁﬁm e
of merchants and help weavers to 1 3t e
get a fair price for their cloth. FAAE |
(3) These Cooperatives only engage (3) EwEH ey dew Fei safE
in trade Cwiﬂi Pﬁ:f,:; e L Y S H
(4) These Cooperall ; ) s e
marketing  but  only  inio ) mﬂﬁ Tt fo ﬂzﬁﬁrﬁ"? il
production. & %ae I
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Which one of the following statements

about the Rajya Sabha is correct 7

(1) It selects the executive,

{2} I represents the states of India in
the Parliament.

{3} N consists of 245 nominated
membsrs,

(4] Itis led by the Prime Minister,

The final interpreter of the

Constitution of India is :

(1)  the Executive

{2)  the Judiciary

(3}  the citizens of India

(4)  the Legislature

Civil laws deal with :

{1} any harm or injury to the nghts of
individuals.

(2) disputes between states.

{3} disputes between the Central
Governinent  and a  Siaie
Crovernment.

{4) conduct or acts that the law
defines as offences.

Which one of the following statements
Is incorrect about First Information
Report (FIR) ?

{1y The identity of the accused person
and witnesses if  knmown is
mcntioned.

(2) It states the name and address of
the complainant.

{3}  The complainant can get a copy of
the FIR by paying & prescribed
fee.

(4) It is compulsory to be registered
in case of a cognizable offence.

Who chaired the committee in 2005
that examined the social, economic
and educational status of the Muslims
in India 7

{1} P.K. Thungon

{2y D.S. Koihari

{3) R Sachar

(4) B.P. Mandal
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89.

90.

Which one of the following methods

would be most appropriate for a

constructivist discussion on historical

monuments !

(1) a question-answer chart  on
monumnents

{2) photographs of a school picnic o
o monument

(3)  idemtifying & local monwment amd
paration of stories around it

{4) a collage of  monuments  with
labels

Choose the most suitable reason for

introducing class discussions on a
social science topic.

(17 It keeps students busy.

(2) 1t tests what students have leamt
from mexdia.

(3) It enables stucents to relaie 1o the

topic and express themselves.
It reduces the time teachers have

to speak.

(4)

Scleet the most_approprinte choice

from the following two statements A

and B :

What is the advantage of asking

questions in a Social Science class 7

A. Tt assesses students’ understanding
of the concept and recall of ideas
discussed in an earlier class.

B. It assesses how well new ideas have
been understood and ensurcs s
repetition in students’ own words,

(1) Boeonly

(2} Both A and B

(3) Neither A nor B

{4y Aonly

Choose the  most appropriate

statement  that  describes Social

Science.

(1) A study of individuals and their
achievements

(2) A study of relationships of people
in a contex!

(3) A study of physical matter

(4) A study of space and quantity

A A ICIRINAAN ] U’ A A IERA AR RA ] ]
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PART - IV
LANGUAGE -1
ENGLISH

IMPORTANT : Candidates should attempt questions from Part — IV (Q. Nos. 91-120),

if they have opted ENGLISH as LANGUAGE — L only.

Directions :

Read the passage given below
and answer the questions (Q. Nos. 91-99)
that

follow by selecting the most

appropriate options :
The task of

lighthouse
commissioner of Malta, and this task

finding a new
keeper  fell  to the

was no small one; first, because 1l was
absolutely mecessary to find the man
within twelve hours; second. the man
must be unusually conscientious, — it
was not possible, of course, to take the
first comer at random; finally, there was
an utter lack of candidates. Life on a
lighthouse is uncommonly difficult, and
by no means enticing to people of the
area who love idleness and the freedom
of a wvagrant life. And a lghthouse
keeper is almost a prisoner. He cannot
leave his rocky island except on
Sundays. A boat from the mainland
brings him provisions and water once a
day, and returns immediately; on the
whole island, one acre in area, there is
no inhabitant.

The keeper lives in the lighthouse;
he keeps it in order. During the day he
gives signals by displaying flags of
various colours to indicate changes in

the barometer: in the evening he lights

Scanned by CamScanner
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the lantern. This would be no great
labour were it not that to reach the
lantern at the summit of the tower he
must ¢limb more than four hundred steep
and very high steps; sometimes he must
make his journey several times during
the day. In general, il is the life of a
monk, and indeed more than that, — the
life of a hermit. It was not wonderful,
therefore, that Mr. Koshy was in no
small anxiety as to wherc he should find
a permancnt successor (o the recent
keeper; and it is casy to understand his
joy when a successor announced himself
most unexpectedly on that very day. He
was a man already old, seventy years or
with the
movements and bearing of the soldier.

more, but fresh, erect,

His hair was perfectly white, his face
sufficiently tanned, but judging from his
blue eyes, he did not belong to the
people of the area,

The keeper didn't have to :

(1)  make use of the flags at night.
(2)  light the lantern.

(3) climb the tower twice.

(4)  keep the island neat and tidy.
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The candidate was pot rejected by
Mr. Koshy as :

(1) he was one of the local people.
(2)  his eyes were blue,

(3

he was old but fresh and ereet,

(4)

his hair was white and face
tanned.

Which part of speech is “tanned” in ...

*his face was sufficiently tanped ..." 7

(1)  Adjective
(2) Verb

(3} Adverb
(4)  MNoun

What is the antonym of ‘permancnt’ ?

(1) temporary
{2) dynamic
{3) uneven

(4) moving

‘... and bearing of a soldier...”

What does *bearing® mean here ?
(1) earrying

(2} courage

(3} knowledpe

(4}  manner
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“The task of finding a new ...."

The word, “finding’ is a/an :
(1) Verb

(2) Adjective

{3) Adverb

{4y Moun

The lighthouse was buill :
(1) onasmall island.

{2) on a popular sea beach.
{3) inastormy sea.

i4)  in Malta,

Mr. Koshy's job was very difficult as :
(1) itwas difficult to make the choice,
(2}  no candidate was good enough,
(3)  no one was tall enough,

(4)  there was lack of candidates.

Life on the island was comfortable ps :

(1) the keeper could grow his own

food.

(2}  food came from the mainland.

(3)  the keeper could have his family
with him.

(4)  the keeper could fish in the sea.
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line 10 js -
X (44) : of speech used in s 1
Directions : Head the extract given below jg2. ‘The figure

and answer the questions ((). Nos. 10{-105) () @ metaphof

that  follow by selecting the maost Lo

appropriate oplions {2) ahype

(3) alliteration
| sometimes hold it hall o sin ) p.:rsnniﬁ'l-'vﬂ“”ﬂ

To put in words the grief | feel;

For words, like Nature, half reveal |
The figure of speech used in line 3 js :

And haif conceal the Soul within, 103.

But, for the unguict heart and brain (1) a metaphor

A use in measured language lies;  a hyperbole
The sad mechanic exercise, 3) pursﬂn'lﬁﬂnliim

Like dull narcotics, numbing pain.
(4) asimile

I weords, like weeds, '] wrap me o'er,

Like coarsest clothes against the cald:

But that large grief which these enfold 104, The poet considers it a sin to express

Is given in outline and no more. M. loirts
(1} sorrow
100. “Measured language” can help in : {2)  ambitions
(1) making pleas. e
(3) anxiety
(2)  numbing the pain,
(4)  cxcitement

{3) expressing joy.

{4) giving orders,
105. 1t is a sin to open one’s heart and soul

in words because :

101. The brain and heart are unquiet as they :
- (1) they cannot full

{1} are too joyous. ¥ express the truth.
(2}  theye %
(2)  are filled with fear. Y ¢an be easily misunderstood.
() no individual has full command of

(3) are wrapped in coarsest clothes,
words,

(4)  are overwhelmed with grief,

(4)  the society does not allow it.

—
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Answer the following questions

by selecting the most appropriate options :

106. Intensive Reading :

(1)

(2)

{3)

{(4)

107. Poetry teaching should ideally be
meant for :
(1) learning grammar
(2)  learning poctic devices
(3)  vocabulary building
(4)  enjoyment and appreciation
108. The pedagogy of language does not
refer to :
{1} Science of Teaching.
{(2) Craft of Teaching.
(3) Methods of Teaching,
{#)  Art of Teaching.
109, Reading skill can best be developed by :
(1)  doing vocabulary related exercise.
(2) engaging in quizzes and word
games.
(3)  focussing on the use of words ina
given conlext.
(4) writing answers to text based

does not include skimming and
Scanning.
aims

at learning

grammatical riles,

certain
promotes  only  extrapolative
understanding.

involves leamer’s reading in detail
with specific learning aims and
tasks.

questions.

(45}

X
110. One of the qualities of a good
composition is :
(1) maintaining logical consistency.
(2) making maximum use of passive
voice.

{(3) wusing phrases and idioms.
(4) using only flowery language.

111. Direct method is also known as :

()
(2}
@

(4)

deductive method
straight method
natural method

inductive method

112. Language Acquisition stands for :

(1)

(2)

(3)

(4)

learmning a
making

conscious effor.

language  without

any  deliberate or

leamming a language through some
specific language methodology,

acquiring a language by taking

recourse to one’s mother tongue.

learming a language with a

deliberate and conscious effort.
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113, A teacher in a roral area finds more

114.

115.

than 5 languages being spoken by

children in her classroom. She
attempts to use all the languages of
children in her teaching, What is this

strategy known as ?

(1} Translation

{2)  Subtractive bilingualism

(3} Translanguaging

i4)  Multilingualism

Language is a ;

(1) group of words and sentences.
(2)  systematic arrangement of words,
(3}  group of grammatical structures.
(4}  swstem,

*Story telling as a strategy” is used to @

{1} promote  language  learming
holistically,

{2} leam vocabulary.

i3)  recall the story.

{4)  understand the moral of the story.

116. Functional grammar lays emphasis on :

5, L
Idh-—.-.ﬂ--

el

(1) linguistic items.
{2) usecof language.
{3) syntactical items.
{4) rules of language.

(46}

117.

119

1240,

-1l
In learning of English as a second
langunage committing an error is :

{1y a problem that needs o be
rectified immediately,

{2} an indicator of learning.

(3} a hindrance that hampers leaming,

(4) aproblem.

The term ‘linguistic competence’ s
associated with which one ol the

following approaches/methods to ELT 2

(1)  Direct method

(23 Grammar-Translation method
(1) Communicative approach

(4)  Structural approach

Silent reading is encouraged because

.
i :
H

(1} promotes fluency and accuracy.
(2) promoles memorising.

{3} s good for the teacher.

{4) does not disturb athers.

Which one of the following is NOT a
step in the process of developing
writing skill 7

(1} Proofreading
(2} Editing

{3) Transcribing
(4) Drafting
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LANGUAGE - 11
ENGLISH

(52)
FART

P

\_i

IMPORTANT @ Candidates should attempl guestions '{1
i they have opted ENGLISH as LANG

rom Part — v (. Nos. 121-150,
UAGE =11 only.

Directions : Head the passage given below and
answer the questions (U, Mos, 120-128) thai
tfellow by selecting the most appropriate

aplons

In the late summey of that year we lived
i a village that looked semoss the river and the
plam o the mountaing, In the bed of the river
there were pebbles and boulders, dry and white
i the sun, and the water was clear and swillly
moving and blue in the channels. Troops went
b the house and down the moad and the dust
they mised powdered the leaves of the trees,
I'he trunks of the trees too were dusty and the
leaves fell early that year and we saw the
troops marching along the road and the dust
nsing and leaves, stirred by the breeze, falling
and the soldiers marching and afterwards the

road bare and white except for the leaves.

The plain was rich with crops: there
were many orchards of fruit trees and beyond
the plai w mountains were brown and bare,
There was fighting in the mountains and at
night we could see the flashes from the

artillery. In the dark it was like summer

lightning, but the nights were cool and there

was not the feeling of a storm coming.

/.

Scanned by CamScanner

guometimes 11 the dark we heard the

indow and
troops marching under the wind guns

going past pulled by motor-tractors. There wag

much tralfic at night and many milcs on the

conds with boxes of ammunition on each side

of their pack saddles and grey motor-irucks
ihat carried men, and other rucks with loads
covered with canvas that moved slower in the
traffic. To the north we could look across a

valley and sce the chesinutl (rees and the

branches were bare and the trunks black with

rain,

121. The troops were marching :
(1)  without any hope of victory.
(2) away from the battlefield.
{3) to the battlefield in the mountains.

(4) towards the North.

122. There was fighting in the mountains.
The word, ‘fighting® is a/an :

(1)  Verb

(2) Adjective
(3)  Adverb
(4)  Noun



’d-

p-1l
j23. We saw the troops.

. The tease in the above sentence js «

(1)  Present Continuous
{2)  Past Indefinite
(3)  Pasi Perfect

(4) Present Indefinite

124. The word, ‘boulders’ means :
(1) big stones
(2) fishes
{3) bad bruises

{4) acloister

125, What does the word, ‘ammunition”

mean 7

(1) Information
(2) Food articles
(3) Winter clothes

(4) Bullets

Scanned by CamScanner

(53)

x

126. As a result of the soldiers” march :

{1} the leaves were crushed under the

(2}

(3}

4)

fect.

the leaves were falling on the
ground,
a view of the hills was nol

possible.

the trees got covered with dust.

127. From his house in the village the

narrator did not See @

(1)

(2)

(3

()

plain and mountains in the

distance.

soldiers clearing the road of the

leaves.

bare and white road with leaves
om it :

clear and swiftly moving water in

the river.

128. Which one of the following statements

is FALSE ?

(1)  Across the plains there were the
snow covered mountains.

(2) The guns were flashing like
lightning.

(3) The nights were cool even in
SUMIMET.

(4) * The soldiers had not destroyed the

) Crops.



X :
DMrections :  Read the passage given below

and answer the questions (. Nos. 129-135)
that follow by selecting the maost
appropriate options

L. Ultimately Baloo, a snow-white
polar bear appears 1o have ended up with
an animal trainer who took his bears to a
circus, They were forced to imitate
human behaviour like dancing with
music, playing with balls and walking
upright. Baloo endured mental and
physical pain - trainers whipped the
bears on the face, head, and hind
Quarters — as well as a sweltering
environment hostile to her polar bred
sensibilities. When not performing,
Baloo and her peers were warehoused in
a trailer divided into several metal cages,
They could not lie properly and had to
curl into a C shape 1o lie on their sides,
or put their fect up against the wall 1o lie
on their backs. Moreover, life in the
tropics posed its own challenges.

2. Over five million years, polar
bears evolved to handle extreme cold.
Wild bears can overheat, if the
temperature rises above minus 20 degree
centigrade, forcing them to plunge into
the ocean or lie on their backs on a
frozen surface — options unavailable 1o
Baloo and others. In fact, animal welfare
investigators documented temperature
spikes as high as 45 degree centigrade
next to the cages. Heat's effect on a

polar bear is dramatic. Humans sweat to
stay cool, but bears don’t. They pant to
cool off. The hotter it is, the greater the
panling. As a result, the circus bears
were dehydrated and scrawny. While a
polar bear's normal respiration rate is
somewhere between 10 and 30 breaths
per minute, the suspected rate for a
circus bear, when lving still is 60,

A

Jualliniou Uy wvaltiinoual i vl

(54)

P

129. In order to stay l:ﬂlhulf:l?g .
(1) nepdud to brea ~ 30 timeg
per minute. .
(2) had to bteathe 60 times pe
minute.
(3) used tO lie down on a frozey
surface.
(4) hadto gweat a lob.
130. Antonym of the word, ‘hostile’ is :
(1) prompt
(2) absent
(3) homesick
(4) friendly

131. *....the suspected rate fora ...."
The word, ‘suspected” here is a/an :

(1) Verb
{2) Adjective
{(3) Adverb
(4] Moun
132. What does the word, *spikes® (para 2)
here miean :
(1) enjoys
(2) lowers
(3) rises
(4) rods
133. In the circus, Baloo was made to :
{17 climb stairs,
{(2)  walk like humans.
{3}  sit on a stool,
(4)  play with rings.

134, When not performing in the ring
Baloo was :

(1) allowed to roam around.
(2)  shut up in a metal cage.
(3} kept in an ice-cooled room.

(4)  kept tied to a peg.

135, Animals in the circus :

(1)  could not sleep in the normal way.
(2}  were treated with care.

(3} were allowed to play as they liked.
(#)  got good food to eat.
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' mr;-cﬁﬂm tAnswer the ﬁ::l!luwing qu.::g'.!_in-ns
by selecting the most appropriate aptions :

136,

137.

138.

139.

The idea that children

are born

with language soobitlon dedee &

given by :

(1) Chomsky

(2)  Vygotsky

(3) Piaget

(4)  Skinner

Critical pedagogy :

(1)  promotes peer group learning,

(2}  does not challenge the existing
knowledge.

(3)  develops instrumental understanding.

(@) allows stdeniz to amive ot
informed understanding,

Listening comprehension is a :

(1)  hearing skill

(2) receptive skill

(3) creative skill

(4) productive skill

Which one of the following practices

will help most in developing oral

language skill 7

(1) participating in role plays

(2) chorus reading of a chapter in the
textbook after the teacher

(3) practising the correct
pronunciation of words in chorus
after the teacher

(4) reciting poems individually and in
chorus

Scannea by vamscanner
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1440.

141.

142,

143.

X

English belongs to :

(1) Indo-European family of
languages

{2}  European-Celtic family of
languages

(3)  Nordic family of languages

(4) Indo-Aryan family of languages

In a constructivist classroom learners

are :

{1} interacting in groups and the class
is somewhat noisy.

(2) writing the answers from the
blackboard in good handwriting.

(1) taught by cxpert teachers,

{(4) listening  attentively to the
tegchers.

While assessing a student, the teacher
should compare the progress of &
child :
(1)
(2)
3)

with those who learn fast.

with those who are slow learners.
with his‘her previous level of
learning.

{4)  with other children in the class.

Formative assessment helps in :
{1) assessing teacher’s efficiency in
teaching. .

providing qualitative feedback to
leamners 1o improve.

(2)

conducting tests in a week.
creating a competitive atmosphere

in the class.

(3)
(4)



X

e e i = ¥
F"I]
& 148, Listening o ® gooil speaker hepp, .

144, While teaching a language through
the skill of Stimulus Varlation,
tencher should :

(1} focus on  demonsteation  using
various T1LMs.

(2} use movement and gestures while
teaching.

(3} strengthen the desirable behaviour
of the leamers.

(4)  use students’ previous kniow ledpe,

145. Guided writing provides e

students when writing on their own.

(I}  review and feedback

(2)  model text and visuals

(3)  opportunities for creativity

(4) helpful tools, scaffolding and

support

146. Lanpuage is the ability to acquire and

(1)
(2)
(3
(4)

some of its basic skills.

complex systems of communication.
some of its components.

a set of grammatical rules,

147. Which one of the following is not true
of English language learning as a
second language in school 7

(1)

(2)
(3

4

leaming the sounds of the
language

learning to become & linguisl
learning the grammar first to
become a fluent user of English
learning to use the language for
WArLOuS purpises

learner :
{1y m developing s prychomo,

skills.

(2) in improving  hisher  pypy
[prmation.

(3 in making  hinvher  selectiye
listener.

(4)  inavoiding communicilion errory.

149. Which one of the following is correcy
ahout teaching learning of English

grammar 7

() Learning 1o usc Lhves English
language and discovering the rules
of grammar in context,

() Leaming grammatical  forms/
patterns is essential for leaming
English.

(3) There is no need o learn its
grammar for learning English.

(4) Leaming grammar in  the
formative years helps in better
learning of English,

150. Lower-order questions are meant to :
(1}  apply the ideas of the text,
(2)  apply new ideas,

(3)  recall the vocabulary to be leam!
in the text.

(4) recall facts from previous
knowledge.
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